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] 100kN/MZ#8 % % — -~ - —|(3mZiBZ D -~ — - —| 100kN/mM%E#BZ % — -~ — —|3mZERBZB -~ — — —
zhst 1.00| 000 ~ 6.28 7888 | #nhbList | 000 ~ 6.28| 1.82 9.20 zhst 1.00| 500 ~ 7.40 7888 | #hilst | 500 ~ 740 1.82 9.20
) 100kN/mMZ#8 % % — -~ - —|(3mZiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mZERBZB -~ — — —
zhst 1.00| 000 ~ 545 67.96 | #hblis | 000 ~ 545]| 2.00 10.10 zhst 1.00| 500 ~ 6.80 67.96 | #hbist | 500 ~ 680 | 2.00 10.10
3 100kN/mMZ#8 % % — -~ - —|[3mZiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mZERBZB -~ — — —
zhs 1.00| 000 ~ 562 7022 | #hbis | 000 ~ 562 | 2.00 10.10 zhs 1.00| 500 ~ 7.10 7022 | #hbist | 500 ~ 7.10| 2.00 10.10
4 100kN/mMZ#8 % % — -~ - —|(3mZEiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mZERBZB -~ — — —
zhs 1.00 | 000 ~ 6.91 8758 | #hbLis | 000 ~ 691 | 1.87 9.46 zhs 1.00 | 500 ~ 8.80 8758 | #hbLis | 500 ~ 880 | 1.87 9.46
5 100kN/mMZ#8 % % — -~ - —|[3mZEiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mERBZB -~ — — —
zhs 1.00| 000 ~ 7.18 9132 | #hbis | 000 ~ 7.18| 1.88 9.49 zhs 1.00| 500 ~ 9.40 9132 | #hbis | 500 ~ 940 1.88 9.49
6 100kN/mMZ#8 % % — -~ - —|[3mZEiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mZERBZB -~ — — —
zhs 1.00 | 000 ~ 6.06 7603 | #hbist | 000 ~ 6.06 | 1.95 9.87 Zzhst 1.00| 500 ~ 7.60 7603 | #hbilst [ 500 ~ 760 1.95 9.87
. 100kN/MZ#8 % % — -~ - —|[3mZEiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mZERBZB -~ — — —
Zzhst 1.00| 000 ~ 542 6757 | #hbLis | 000 ~ 542 | 2.04 10.30 Zzhs 1.00| 500 ~ 7.00 6757 | #hbist | 500 ~ 7.00| 2.04 10.30
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImERZS ~
zhs ~ Zzh st ~ zhs ~ Zzh st ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
zhs ~ Zzh st ~ zhs ~ Zzh st ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
zhs ~ Zzh st ~ zhs ~ Zzh st ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
zhs ~ Zzh st ~ zhs ~ Zzh st ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mMZ#B 2% ~ ImEBZS ~
zhst ~ Zzh st ~ zhs ~ Zzh st ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mMZ#B 2% ~ ImERZS ~
Zzhst ~ Zzh st ~ zhs ~ ZzhLst ~
100kN/MZ#8 % % ~ ImEHEZD ~ 100kN/mMZ#B 2% ~ ImEBZS ~
zhs ~ Zzh st ~ zhs ~ Zzh st ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
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